ELECTRIC POTENTIAL DUE TO MULTIPLE
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ELECTRIC POTENTIAL NEAR AN ELECTRIC DIPOLE

As we you know that there Is an electric potential near every
charge or system of charge so there is a potential near an
electric dipole. We have to find electric potential near an electric
dipole.
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ELECTRIC POTENTIAL AT AN AXIAL POINT OF ELECTRIC DIPOLE

Rl faegq gfaya & snafir ufa @ faggq fasma

Consider an electric dipole AB of charge +g and -g and length 21
of dipole moment P. We have to find electric potential at an axial
point M at z distance from centre of dipole.
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ELECTRIC POTENTIAL AT AN EQUATORIAL POINT
frdl faegd gfaya ey Fufa v fAgyd f[@ea

Consider an electric dipole AB of charge +g and —q and length 2|
of dipole moment P. We have to find electric potential at an
Equatorial point N at z distance from centre of dipole.
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ELECTRIC POTENTIAL AT AN ARBITRARY POINT

Consider an electric dipole AB of charge +g and —q and length 2|
of dipole moment P. We have to find electric potential at an
Arbitrary point S at r distance and 6 angle from centre of dipole.
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